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Worksheet on Jumbled Words and Sentences 
 

1. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. Lemurs are primates found only on the African island of 

B. Madagascar and some tiny neighbouring islands. Because of its.  

C. found nowhere else on Earth. Lemurs may have floated there eons 

D. geographic isolation, Madagascar is home to many amazing animals 

E. ago on “rafts” of vegetation and evolved in isolation over countless centuries. 

 

a. ABDCE 

b. ABCDE 

c. EDCAB 

d. BACED 

 

2. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. Ikebana was introduced in Japan in the 6th century by 

B. Chinese Buddhist missionaries who had formalized the ritual of  

C. offering flowers to the Buddha. The first school of flower arranging 

D. in Japan, Ikenob?, was founded by Ono no Imoko in the early 7th century. 

 

a. DCBA 

b. ABCD 

c. BCAD 

d. DCAB 

 

3. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. oxygen before being dispersed into the systemic circulation. 

B. de-oxygenated blood from the heart to the lungs to be re-saturated with   

C. Pulmonary circulation is the system of transportation that shunts 

 

a. CBA 

b. CAB 

c. BAC 

d. ABC 

 

4. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. While hibernation is often used to describe any animal that goes into dormancy in the 

winter, 

B. there are three very specific requirements for an animal to be considered a true 

hibernator: 

C. reduced metabolism, slower heart rate, and lowered body temperature.  
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D. These environmental stressors cause a wide variety of animals to go into a state of 

dormancy. 

E. Winter has two big problems for animals. 

F. There’s less food and it is intensely cold. 

 

a. ABDCFE 

b. ABCDEF 

c. EFDABC 

d. CBDAEF 

 

5. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text:  

 

A. A mirage is a phenomenon where you think you see water. 

B. The hot air bends light rays and reflects the sky. 

C. The desert Sun heats the sand, which in turn heats the air just above it. 

D. They happen when light passes through two layers of air with different temperatures 

E. Mirages are most common in deserts. 

 

a. AEDCB 

b. BEDCA 

c. CBDCA 

d. ABCDE 

 

6. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. Marie Curie was a pioneering physicist and chemist whose work focussed 

B. on radioactivity. She was the first woman to win a Nobel Prize, the first 

C. person and only woman to win it twice, and the only person to win the prize in two 

sciences. 

 

a. CBA 

b. BAC 

c. BCA 

d. ABC 

 

7. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. Alice Ball was a chemist who very early in her career pioneered a 

B. known as the ‘Ball Method.’ It was the only working treatment 

C. treatment for Hansen’s Disease, known also as leprosy,  

D. which became until antibiotics were invented. 

 

a. ABCD 

b. ACBA 

c. CABD 

d. DCBA 
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8. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. Drones are small or medium-sized unmanned aerial vehicles (UAVs). 

B. drone system combines robotics with aeronautics. 

C. they're capable of maintaining a controlled, sustained level of flight. 

D. They're unique in that they can drive remotely and autonomously, and 

 

a. DBCA 

b. ADCB 

c. ABCD  

d. CBDA 

 

9. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. The Cold War was a period of geopolitical tension marked by 

B. competition and confrontation between communist nations led by  

C. the Soviet Union and Western democracies including the United 

D. States. During World War II, the United States and the Soviets 

E. fought together as allies against Nazi Germany. 

 

a. ABCDE 

b. EBDAC 

c. CBAEB 

d. BDACE 

 

10. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. Easter is a Christian holiday that celebrates the belief in the resurrection of 

B. occurred three days after Jesus was crucified by 

C. the Romans and died in roughly A.D. 30. 

D. Jesus Christ. In the New Testament of the Bible, the event is said to have  

 

a. ADBC 

b. CBDA 

c. ABCD 

d. DCBA 

 

11. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. Pollution poses a significant threat to marine life 

B. It can be caused by various factors such as oil spills, plastic waste, and industrial runoff. 

C. resulting in habitat destruction and endangerment of species 

D. particularly in oceans and coastal areas. 
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a. CBAD 

b. DACB 

c. BCDA 

d. ACDB 

 

12. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. In ancient Greece, democracy emerged as a form of government where 

B. citizens had the right to participate in decision-making processes. 

C. with citizens electing leaders and voting on laws. 

D. This system laid the foundation for modern democratic principles 

 

a. ABDC 

b. BDAC 

c. CBDA 

d. CADB 

 

13. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. The Industrial Revolution marked a significant shift in human history 

B. It began in Britain in the late 18th century and spread to other parts of the world. 

C. with innovations in machinery, transportation, and manufacturing processes 

D. resulting in profound social, economic, and cultural changes. 

 

a. CBAD 

b. DACB 

c. BCDA 

d. ACDB 

 

14. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. Global warming is a phenomenon characterised by an increase in the earth's average 

temperature, 

B. It is primarily caused by the release of greenhouse gases such as carbon dioxide and 

methane. 

C. resulting in changes to weather patterns, rising sea levels, and loss of biodiversity 

D. Scientists warn that urgent action is needed to mitigate its effects and prevent 

catastrophic consequences. 

 

a. DCAB 

b. BCDA 

c. CADB 

d. ACBD 
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15. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. The human brain is a complex organ responsible for various cognitive functions. 

B. It consists of billions of neurons that communicate through electrical impulses. 

C. These functions include thinking, memory, perception, and emotion. 

D. Understanding the brain's structure and function is essential for advancing neuroscience 

research. 

 

a. ACBD 

b. CBAD 

c. BDCA 

d. DACB 

 

16. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. The Renaissance was a period of cultural rebirth in Europe. 

B. It began in Italy in the 14th century and spread across the continent, 

C. with advancements in art, literature, science, and philosophy. 

D. This period marked a shift from the medieval to the modern world. 

 

a. CBAD 

b. DACB 

c. ABCD 

d. ACDB 

 

17. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. Photosynthesis is the process by which green plants and some other organisms use 

sunlight. 

B. They convert carbon dioxide and water into glucose, releasing oxygen as a byproduct. 

C. This process is essential for the survival of most life forms on Earth. 

D. Understanding photosynthesis helps scientists develop strategies for sustainable 

agriculture and renewable energy. 

 

a. ACBD 

b. CBDA 

c. BDAC 

d. DACB 

 

18. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. The Great Wall of China is one of the most impressive architectural feats in history. 

B. It stretches over 13,000 miles across northern China, spanning centuries of construction 

efforts. 

C. The wall was built to protect against invasions from nomadic tribes and other enemies. 

D. Today, it stands as a symbol of China's rich cultural heritage and ingenuity. 
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a. DCAB 

b. DCAB 

c. CADB 

d. ACBD 

 

19. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. The water cycle, also known as the hydrological cycle, describes the continuous 

movement of water on Earth. 

B. It involves processes such as evaporation, condensation, precipitation, and runoff. 

C. Water molecules change states as they move between the atmosphere, land, and oceans. 

D. The water cycle plays a crucial role in regulating Earth's climate and supporting life. 

 

a. BCDA 

b. DACB 

c. CBAD  

d. ACDB 

 

20. Rearrange the given parts in the correct logical sequence to form a meaningful block 

of text: 

 

A. The human rights movement aims to promote and protect the fundamental rights and 

freedoms of all individuals. 

B. It encompasses various issues such as equality, justice, and dignity for people around the 

world. 

C. Advocates work to hold governments and institutions accountable for upholding human 

rights standards. 

D. Through education, advocacy, and activism, the movement seeks to create a more just 

and equitable society. 

 

a. CADB 

b. ACBD 

c. DCAB 

d. ABCD 

 

 

Answer Key 
 

1. a 2. b 3. a 4. c 5. a 6. d 7. a 

8. a 9. a 10. a 11. d 12. a 13. d 14. d 

15. a 16. c 17. a 18. d 19. d 20. b  
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